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Directions (1-10): ¥ f3€ 7€ Ud® Uy & 91¢ &1 91 9 HYT A, B AT 1, 11 3R 111 few
e g omusl fRuffva &= 8 & u= § fau v sieps Uy &1 W ¢4 & fuu
ygiwy/mawas® 8/8 a1 sl

Q1. af 3rge, TR | 3 ¥ < a9 BieT g d 9 BT T 3Tg FTd DI,
(A)?H&faﬁ&@aﬁ&nﬁ, Y BT 3R T 20% 34U gHTt Safds Y, IR F 15 a9
[T 8.

(B) IR B IAH 31 HT 3 B! G M F SIATd 7:5 §

(a) TS HYT A 3R B S THATY U PT IR o & AU AaF § Afed Pig ft By
3T UY BT IR a4 & foIT yaie T8 8.
%%%qggrBWWWW%%WW%W%MAMWW%%W
(c) TF 1 1 e BUT A 36 T P HUT B 3P UH BT IR 33 g wafed 2.
%ﬁggAmq%mwéﬁ$mmﬁ%W$wBcr%rmwéfﬁﬁm
(e)tri%am# A 3R B g frareR +f us &1 IR 31 & fow yaie T8 §.
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Q2. URT Bt P fG= & 19 31 7 71 BIfor?

(A) Td 51 & 919 BT 1A, URT &1 Ufagpd fG=m & /g &1 7 J 50% 34w 8.

(B) A1 GRT YRT &1 fded =M ¥ 32 fHl &t g8 99 = § folw U 99T &1 4RI Bt
3%d fovn & qg & # fo T 95 ¥ (F He) 2 6 BT 3R |,

(a) IS YT A 3R B THI THIY U FT IR &1 & o 3o g afsT st swuA
3 UY BT IR &1 & folT yaie a1 8.
%)%I%qgu;BWWWW%%WW%WEEWAMWW%%W
(c) T T1 Al HIT HYT A 3(bd TN BT HYF B 3Hbd UY BT IR o1 & o8 JIied @,
%%Q?Amqﬁmwﬁ$m®ﬁ%@%$%ﬂBU%WW@%W
(e) T HYT A 3R B I frarer t Uy &1 IR 21 & forw yaie & 8.
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Q3. ‘R’ ®T HMH JTd PIfoTE.

(A) A A 2 a¥ & U Ry ufy arfife X & =epglg o0 W 10,000 I9F &1 FHowr fear
3R 4 a8 & U Ry Ul affe X ¥ TURY =9 W 8,000 JUY HT 9w frar, I8 g
FroT3fl ¥ A AR U g,

(B) R%?WH%WWWW&M@WWZH&%WW@Mﬁaguld
25: 11 8.

(a) TS HYT A 3R B I THATY U PT IR o & [T AaF § Afchd Pig ot By
3Hd Uy BT IR a4 & foIw yaie e 3.
g%ﬁqgugrBWH%WW@%WW%WHﬁWAMWWﬁ%W
(c) TF 1 1 e BUT A 3B T B HUT B 3P UH BT IR 33 g waed 2.
%%ﬁ%?AWU%WW@?WW%W$WBE[%[WG?R@%W
(¢) TR BU A IR B T RreiTen? ot 7% 7 IR 33 % Ry v e )
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Q4. Ife Ridiey &t Sars 14 9 8 ot few e fyd's? &1 emya+ 3rd #ifsre?

(A) Ricier &1 $ot Y8 &3t 924 I It B,

(B) RcieR &1 oot Y¥Ig &Fwd, Ridsr & 9% gNiT &7%hd ¥ 50% 3 8.

(a) TfE HYT A 3R B I THITY U BT IR o & [T 3HaH § Afpd Bis Ht By
3 Uy BT IR a1 & fore yafe & 3.
%%%%ugrB@WWWW%%WW%W&?@AMWW%%W
(c)trl%ma‘famaaﬁu?A 3B TT Had HYUT B 3bd UY BT IR a4 & fore uf 3.
%ﬂ;}ﬂAWWWW%ﬁ%WW%W%MBl;r%rwrsﬁ?é%r%%m
(e)tﬁ%aﬁzﬁ A 3R B ! firarex +f ue o1 IR 31 & fow uai T8t ©.
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Q5. I8 HST T 87
A. TS I=AT BT 20%, 39 T HT 1/5 2.
B.3Y T HT 5/6, 39 JBAT Y 15 HH ¢.

IR difSTN(a) IR SIT(b) IR difSTE(c) IR difeTu(d) IR ifo(e)




%%?AWU&[WW%%WW%W$WBU%[WW%%%IH
%%E?;Ba@oﬁquawmquﬁ%amammmwaﬁm
(c)triﬁaﬁu:}Aa?I?Baﬁwaqawwéﬁ$mwéémﬁélﬂ$w
3fhdl Uy T IR a1 & fore yafe & 3.

(d) T T A HIT HUT A 3Hbd TN HIA HYT B 3{Pba U BT IR o1 & o gaied 3.
(e) Tl HYT A 3R B I frames +ff uy &1 IR 33 & forw yui =1 §.

L1Difficulty 2

QTagsData Sufficiency Quant
QCreatorDeepak Rohilla

Q6. TSP BId BT &P d fhra-T 82

. B A & e ufa @ Hiex 1eq arTd 250 % ®.
I1. BT H B T B 4H AT 3,500 % 2.

1. BT & = @M &1 $d AT 14,500 % ©.

() Fad | 3R 1|

(b) BT 11 3R 11|

©) 1, 11 3R 111 g

OEEEEIER K

(e) 379 ¥ PIS T8l
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Q7. &Y 7E ge &1 ufa=ra wd FIfvre.

. 52% @I G & d1G 34 A% DI [aep! T 3ifold TH 252 F §.
I1. fe DIg e el & SITdT al Afofd aTH 80 U B,

1. TfE IS Fe TaT & STt ar SHffa ary 409 g,

() Fad | 3R 1|

(b) 11 3R T <Y g | T 11|

(c) Pad | 3R 1l

(d) | 3R 1 Had 11T 1|

(e) 31 ¥ PIs TaI
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Q8. 39 ¢ B! A1 fhat 87
1. S ¢ U Ryd 91 &1 13 908 T UR H«l &
I1. S S T 250 HY TS WehIH Bl 27 JHU8 T UR H &,




111, STt S Ueh GHM 3= 3 aTell Th 39 ¢ &1 32 hUs H UR &l §.
(a) HId | 3R Il

(b) Had | 3R 111

(c) Had 11 3R 111

(d) A 15 it &

(e)gﬂﬁ@ﬁéqﬁ
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Q9. IS ‘A’ B TS fhda-t 87

|. T A BT T | 15% IS 81 P 971G Ig 1.61 ARG 51 ST &,
I1. ST A B SRS B 5T B P SGAT § HH: U 7:8 §
III. T B P ST 1.6 TG ©.

(a) Had |

(b) Fad 11 3R 11l

(c) Had | 3R 1|

(d) T1 A HIS 17 11 3R 111

e) T4t 1, 11 3R
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Q10. T® faiur &1 @t 10 f&i & T H3 & fore foram sfire! @t smaza®ar sift?
. BT BT 20%, 8 4! gRT 8 fat o W1 fopam < whelt B,

1. 20 4T¥H 3T HTH B 16 &1 H &= IHd B,

III. BTH BT 1/8 YT 8 T gR1 5 &1 & QX1 foharm 1 whell .

() Fad | 3R 1|

(b) BT 11 3R 11l

(c) Had |

(d) Fad Il

e) T T J & ft
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Directions (11-15): Frafafaa g URER ] H uyare g ?) & ™M W | qH
S{TET?

Q11.6,9,18, 45,135, ?
(a) 470
(b) 472.5



(c) 493.75

(d) 476.5

(e) 439
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Q12.66,35,72,38,78,7?

(a) 39

(b) 158

(c) 37

(d) 41

(e) 40
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Q13.29, 33,60, 76,201,7?

(a) 391

(b) 139

(c) 237

(d) 211

(e) 229
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Q14.5,7.25,13.5, 25.75, 46, ?
(a) 70.25

(b) 71.25

(c) 73.25

(d) 75.25

(e) 76.25
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Q15.138, 269, 532,1059, 2114,?
(a) 4405

(b) 4025

(c) 4252

(d) 4225

(e) 4325
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Solutions

S1. Ans.(c)

Sol.

Let Veer’s present age = x

= Atul’s presentage =x - 10
From A —

Abhi’s present age =x - 15
ATQ

(x-5) =2 (x- 10)

5x-25=6x-60

x=35
So, Veer’s present age = 35 years
From B —
X 7
x-10 5
=5x=7x-70
= x=35

So, Veer’s present age = 35 years.
Either statement A or statement B by itself is sufficient to answer the question.

S2. Ans.(a)

Sol.

Let speed of boat in still water = a
Speed of stream =b

= 100a=150a- 150b
=a=3b
From (B)
32 32

_E_a+b

=(a*-b?)=32b

From (A) and (B) together

9b? - b? = 32b

= 8b%=32b

=>8b(b-4)=0

=>b=0,4

=>a=12

Speed of boat in downstream =a +b

=12+4

=16 km/hr

Both the statements taken together are necessary to answer the questions, but neither of
the statements alone is sufficient to answer the question.



S3. Ans.(c)

Sol.
From (A)
2
8000 + 2R _ 1,001 + £
100 100
8000 + 320R = 10,000 |1 + R? + 2R
B 1002 ' 100

= 8000 + 320 R = 10,000 + R? + 200R
= R2- 120R + 2000 = 0

= R2- 100R - 20R + 2000 = 0

= R (R-100) - 20 (R-100)=0
(R-20) (R-100)=0

R = 20%, 100%

From (B)
Let Principal = 25x
Interest = 11x

2
25x [1 + 2] = 36x
100

=>R=20%
Either statement A or statement B by itself is sufficient to answer the question.

S4. Ans.(c)
Sol.
From (A)
T.S.A. of cylinder = 924
2mr? + 2irh =924 [ ris radius of cylinder and h is height ]
h=14

22 ¢ 5
=2 X Z[r? + 14r] = 924
=>r’+14r-147=0
=>r’+21r-7r-147=0
=>r(r+21)-7(r+21)=0
(r-7)(r+21)=0
r=7,-21

From (B)

3 _ 2mr?+2mrh

2~ 2mrh
= 2mrh = 4nr?

=>h=2r
=>r=7cm
Either statement A or statement B by itself is sufficient to answer the question.

S5. Ans.(b)



A.letno.is x

_x

w209 =<
B.E?x=x—15
Sol. = x =90

So, statement A is insufficient whereas statement B alone is sufficient to answer the
question.

S6. Ans.(c)
Let area = x m?
Then,
250x + 3500 = 14500
By this equation, we can find
Sol. 52, all the three statements are required

S7. Ans.(d)
l.5.P. =252
Profit = 52
C.P.=252-52=200
Il. Profit = 80 (when no discount)
50, M.P = 200 + 80 = 280
. When discount =0
Profit = 40%
Profit = 200X — = 80
Sol. 100
So, we can calculate M.P. and consequently discount percentage.
So, statement [ with either Il or III is necessary to answer the question

S8. Ans.(a)
I. Time to cross a pole = 13 sec
L
=13
S
L,+P L,+250
A = 27 = 2 = 27
-S| Sq
L,+Lo
22 = 32
Sol. 1z

So, from above equations, we can see statement I & II are sufficient to find out speed of
train.

S9. Ans.(d)
LA xS =161 lakh
100
NnaA:BE=7:8

Sop. . B = 1.6 lakh



So, we can see, population of A can be find out either only by statement I or statement II &
[1I together.

S10. Ans.(e)

I.nx10 = 8xX8x5

I.nx10 = 20x16

lll.. nx10 = B8x5x8

So, from any of the three statements,
Spl. e can get the anzswer.

S11. Ans.(b)
Seriesisx 1.5 x2 =25 =3 x3.5

~?=135x3.5=4725

Sol.

S12. Ans.(d)
Seriesis+ 2+ 2, =2+ 2 +2+2 x2+2 +2+2
'? = - =

ol P=78F2+2=41

S13. Ans.(c)
Seriesis + 22, + 3%, 4+ 4%, 453, + 62

Sol. - 7=201+6%=237

S14. Ans.(e)
Series is + 1.5%,+ 2.5%, + 3.52, 4.5%, + 5.57
s 2 —

ol - 7=46+(5.5) =7625

S15. Ans.(d)

Seriesisx 2—7 x2—6,x2-5x2-4 x2-3

A 7=2114x2-3=4225
Sol.



